

Converting Celsius and Fahrenheit (E)

Estimate or convert the temperatures.

$-89\text{ }^{\circ}\text{C} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{F}$

$-91\text{ }^{\circ}\text{F} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{C}$

$36\text{ }^{\circ}\text{C} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{F}$

$-85\text{ }^{\circ}\text{F} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{C}$

$-55\text{ }^{\circ}\text{F} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{C}$

$-66\text{ }^{\circ}\text{C} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{F}$

$-33\text{ }^{\circ}\text{C} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{F}$

$25\text{ }^{\circ}\text{F} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{C}$

$-93\text{ }^{\circ}\text{F} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{C}$

$-45\text{ }^{\circ}\text{F} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{C}$

$-84\text{ }^{\circ}\text{C} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{F}$

$40\text{ }^{\circ}\text{F} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{C}$

$-14\text{ }^{\circ}\text{C} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{F}$

$89\text{ }^{\circ}\text{C} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{F}$

$-48\text{ }^{\circ}\text{C} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{F}$

$-62\text{ }^{\circ}\text{F} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{C}$

$-78\text{ }^{\circ}\text{C} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{F}$

$-43\text{ }^{\circ}\text{C} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{F}$

$62\text{ }^{\circ}\text{C} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{F}$

$23\text{ }^{\circ}\text{F} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{C}$

$6\text{ }^{\circ}\text{F} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{C}$

$50\text{ }^{\circ}\text{C} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{F}$

$0\text{ }^{\circ}\text{F} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{C}$

$-35\text{ }^{\circ}\text{C} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{F}$

$-42\text{ }^{\circ}\text{F} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{C}$

$26\text{ }^{\circ}\text{C} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{F}$

$-70\text{ }^{\circ}\text{C} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{F}$

$16\text{ }^{\circ}\text{C} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{F}$

$-5\text{ }^{\circ}\text{C} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{F}$

$-93\text{ }^{\circ}\text{C} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{F}$

Converting Celsius and Fahrenheit (E) Answers

Estimate or convert the temperatures.

$$-89\text{ }^{\circ}\text{C} = -128.2\text{ }^{\circ}\text{F}$$

$$-91\text{ }^{\circ}\text{F} = -68.3\text{ }^{\circ}\text{C}$$

$$36\text{ }^{\circ}\text{C} = 96.8\text{ }^{\circ}\text{F}$$

$$-85\text{ }^{\circ}\text{F} = -65\text{ }^{\circ}\text{C}$$

$$-55\text{ }^{\circ}\text{F} = -48.3\text{ }^{\circ}\text{C}$$

$$-66\text{ }^{\circ}\text{C} = -86.8\text{ }^{\circ}\text{F}$$

$$-33\text{ }^{\circ}\text{C} = -27.4\text{ }^{\circ}\text{F}$$

$$25\text{ }^{\circ}\text{F} = -3.9\text{ }^{\circ}\text{C}$$

$$-93\text{ }^{\circ}\text{F} = -69.4\text{ }^{\circ}\text{C}$$

$$-45\text{ }^{\circ}\text{F} = -42.8\text{ }^{\circ}\text{C}$$

$$-84\text{ }^{\circ}\text{C} = -119.2\text{ }^{\circ}\text{F}$$

$$40\text{ }^{\circ}\text{F} = 4.4\text{ }^{\circ}\text{C}$$

$$-14\text{ }^{\circ}\text{C} = 6.8\text{ }^{\circ}\text{F}$$

$$89\text{ }^{\circ}\text{C} = 192.2\text{ }^{\circ}\text{F}$$

$$-48\text{ }^{\circ}\text{C} = -54.4\text{ }^{\circ}\text{F}$$

$$-62\text{ }^{\circ}\text{F} = -52.2\text{ }^{\circ}\text{C}$$

$$-78\text{ }^{\circ}\text{C} = -108.4\text{ }^{\circ}\text{F}$$

$$-43\text{ }^{\circ}\text{C} = -45.4\text{ }^{\circ}\text{F}$$

$$62\text{ }^{\circ}\text{C} = 143.6\text{ }^{\circ}\text{F}$$

$$23\text{ }^{\circ}\text{F} = -5\text{ }^{\circ}\text{C}$$

$$6\text{ }^{\circ}\text{F} = -14.4\text{ }^{\circ}\text{C}$$

$$50\text{ }^{\circ}\text{C} = 122\text{ }^{\circ}\text{F}$$

$$0\text{ }^{\circ}\text{F} = -17.8\text{ }^{\circ}\text{C}$$

$$-35\text{ }^{\circ}\text{C} = -31\text{ }^{\circ}\text{F}$$

$$-42\text{ }^{\circ}\text{F} = -41.1\text{ }^{\circ}\text{C}$$

$$26\text{ }^{\circ}\text{C} = 78.8\text{ }^{\circ}\text{F}$$

$$-70\text{ }^{\circ}\text{C} = -94\text{ }^{\circ}\text{F}$$

$$16\text{ }^{\circ}\text{C} = 60.8\text{ }^{\circ}\text{F}$$

$$-5\text{ }^{\circ}\text{C} = 23\text{ }^{\circ}\text{F}$$

$$-93\text{ }^{\circ}\text{C} = -135.4\text{ }^{\circ}\text{F}$$